IHTEH20255E6 KPR A B

»

H

S (BB N OB & HiFEAN (PE) RIS )= RNk
AN ] L 1 645
NN EAlAY I 1 620
RN A AN 1 570
Pk NTAY mRAE 1 626
Pk O TEALX R4 1 810
Pk O 1R X AN 1 690
IR Bl g K 1 590
N kL e 1 610
NIk AR Vil 1 600
NN EAlAY IR 2 1260
Ptk ALK fE IE 2 1260
X ZSE] FKIE AR 1 690
XA A ik /b B 1 710
X = Rav] etk 2 1310
KR A JHITIE 2 1310
N4 BT E2H 1 600
KA B 1EAX M2k 1 740
NN AR A R 1 630
RN A RS 2 1230
X el REES 2 1230
RN 22 R 1 [X =LA 1 735
Pk O 1R X ik 4 [ 1 715
IS FIEE 22 J] e 41 X iKiE 1 710
N4 O TEAEX FlE 1 790
NIk et X 2 b 2 1234
A4 et X 22 b 2 1234
X AIEE 22 J] [ 41 X X4 1 710
X AU E i ai 2 1206
RN AU AT i ai 2 1206
Pk IAAL gk onit 2 1240
IS FIEE FIAT Tk ouik 2 1240
N 1 FHAL R 5 1 670
I Al LR 2 1290
NN Al AR 2 1290
RN EEal BREE| 2 1300
X JE XA ] % 2 1300
RN N SRS 2 1280
X N SRS 2 1280
KR LR A X FoE L 2 1340
N4 1R X 4 2 1340
NIk SETN) Al A 1 728
A4 AR A JitE & 2 1166
RN AR itk 2 1166
X el EAWE: 1 700
RN AU AT ik 2 2 1280
— A 2 A [l A= v A 2 122N




Pk AT FMIFE SN 2 1320
IS FIEE BT PP %N 2 1320
N /NS B 1 703
AN Eine ] 3 g 1 645
NN AR B AR fE 1 689
RN el i E 1 695
XN A AY ZIEH 1 633
Pk QAT [ 4 H 1 635
X Al AT ] M4 2 3 2007
IR QAL [ %5 3 2007
N AR A [ D45 3 2007
KA EAAT s 2 1360
itk EALAT g 2 1360
Ptk AR A A2 1 673
X ANGEER XK AF 1 695
Pk Al PRI 2 1266
X EAAT [ Sund 2 1266
IS FIEE EAlAT b K 1 623
b0k A3 KIRE 2 1270
KA A K E 2 1270
NN AR A [ 1 643
RN =AY IR AR 2 1370
Pk Al B 2 1370
RN EEH iz k 1 620
X =R AL ] 2 1300
IR =R A 2 1300
N AR = 2 1330
KA ASERT s 2 1330
NN Al ZIE 2 1176
RN =AY ZIEF 2 1176
Pk AT KA 4 2428
Pk A AT KA 4 2428
Pk AT KA 4 2428
NFNEE AR KA 4 2428
N EFiiln) EE=S 1 590
KA AR ke 2 1366
NN AR Bl 4 2 1366
R ikl =T 1 645
X B b At ARE g 1 710
RN SETN] A4 2 1320
ks SET B[4 N 2 1320
IS FIEE R EAT KT 1 650
R RFNEL A 1 645
R AR EET) MrE 75 1 665
R Bk PR 3 2165
RN Bkt PR 3 2165
X B b A= 3 2165
X AEE WAt Mgt 1 650
Pk EBHAT EPE 1 613
IS FIEE ST FEAb 1 665
KN4 A R B 2 1380




X E1 BHAT Etuts 1 645
IR =R Rk B 2 1200
N ] FEXREE 2 1200
IR A3 K 2 1366
itk A A ikt 2 1366
itk R ot 1 708
Pk BT R 1 695
Pk L EALX iR 1 725
Pk 22 JH [ 4L X AR 1 635
ik O R4 X KAV 2 1130
N4 O TEAEX {5 2 1130
KA il R 1 685
NN S1EER] I 1 750
Ptk O R4 X by 2 1190
Pk TR X X /> 2 1190
Pk O TEALX i A 2 1 760
Pk O 1R X Fk itz 1 810
Ptk EALAT oW 1 650
N 22 i pe 41 [X B 2 1190
I FNEE 22 8 el 1 [X KR 2 1190
A4 D 1R X i 2 3 1 700
R4 O TEALX ZER 1 620
X AIEE 22 9 pil 4 X MFES 1 755
RN AN A X1 g 2 1208
X AN X1 g 2 1208
Ptk TR X AR E 1 605
N4 A TR IE K 5 3195
KA A TR IE K 5 3195
A4 A K IE K 5 3195
ik A A K IE K 5 3195
Pk A AT ki 7k 5 3195
RN Al AT F TR 1 695
Pk =Rl Fasc 2 1270
RN = Rav] Fibas s 2 1270
N4 kL T 5 1 750
KA A B B 1 595
itk ST FEAL 1 615
itk EAlA F2 1 640
Pk O TEAEX gk /Do 1 770
KA L JRA X Yl 1 635
X EAAT F AL 2 1150
RN EAlAT AL 2 1150
N ASERT ik 41l 1 675
NIk O TEALX T1E 1 670
A4 O TEALX R 1 670
R4 22 J] e 41 X A 1 545
Pk BB AL KX 2 1210
RN 1 BHAT KM 2 1210
Pk O 1R X R 1 705
RN AJERT F 2 1310
NV ARFERY e 2 1310




Pk O EAEX I 2 1400
paiikE TR X I 2 1400
N4 O TEAEX FEEE 1 650
KA S 1EAX ML 1 810
itk O TEALX X1 7] 1 705
R4 22 J] e 41 X BT 2 1434
X AIEE 22 J] e 41 X AT 2 1434
Pk L EALX g 1 750
Pk O 1R X X/ 1 700
R O TEAEX TR AR 1 715
N4 O TEAEX GG 1 710
NIk = T 2 1230
R = Ees 2 1230
R4 Kt (ks 2 1190
X Kt R 2 1190
RN ARZERT L 2 1270
X AR G 2 1270
RN =R PaEs 2 1290
N ] P 2 1290
KA At A IEHE 1 645
A4 Al AT ZINA 1 650
R4 ArfE AL fERAE 2 1120
X AIEE AT FER A 2 1120
RN EFilnl pRezES 1 740
X Al AT g% rpaf 2 1350
RN Al AT g rpag 2 1350
N4 ST KERE 1 685
NIk QAL g4 2 1250
NN AR A P 4 2 1250
R4 22 J] e 41 X 2 3 2090
IR 22 R 1 [X pdpza 3 2090
R ANEE 22 J] [ 41 X Fyhp 2 3 2090
Pk EALAT N 1 560
Ptk TR X YT 1 690
N4 A AT [ SERIEN 2 1260
KA AHEA TKIEE 2 1260
itk AT XINEE 1 670
R4 EZE AT B 1 670
Pk O TEAEX S 1 610
KA A AEAT SRIE 4 1 590
Pk JEZEA A 1 670
Ptk 22 J] [ 41 X FEHIR 2 1180
N4 22 J] e 41 X FEHIKR 2 1180
KA ASERT TRER 1 630
A4 O TEALX HE 2 1410
R4 O TEAEX HE 2 1410
Pk A AT A 2 1280
RN A A 2 1280
X JEZFE [ RCaeo 2 1320
RN JE XKL [ Rrae 2 1320
NV ALY EEY3 1 645




Pk AT PRHAS 1 650
R = Rav] AR i K 1 590
N LAY ik 1 625
PN LK ZFH PREE 1 525
itk Al AT AT JE B 2 1080
R4 ArfE AL fEJ BN 2 1080
XN SEAL AT M2z AL 2 1010
Pk Al MZAL 2 1010
X Eilnl 1AL 2 1120
RN E il 1AL 2 1120
N ZEA A2 1 500
KA Rail R4 4 2420
itk S Ravil R 4 2420
R4 = Ravil A 4 2420
Pk Al IR 4 2420
Pk O TEALX [REYE 1 680
Pk 22 JH [ 4L X SR 1 690
RN 22 R e 1 [X LIRS 1 700
N4 O TEALX 15 B 2 1320
NIk LR X 1 B 2 1320
A4 O TEALX ER2 1 630
R4 H BEAY e Vi 1 730
Pk QAL s 2 1274
X AIEE QAT Fhrp i 2 1274
Pk =TA AR 1 640
XA A SR 1 620
N4 A R 2 1400
R AIEE A bR 2 1400
NN S1EER] FiE I 1 560
R4 & HT it 1 750
Pk =R b 1 710
Pk EBHAT Z=E 1 590
Pk QAT S, 1 717
RN Al AEAT A= 1 555
N &= (o 1 645
KA & K e i 3 1235
NN & Tk R IR 3 1235
Pk = K e 3 1235
X Z BT 2 1350
RN = Bt 2 1350
X Z= WER 2 1370
RN = R 2 1370
R = EE 2 1250
KA z i 2 1250
NN & 2750 1 750
Pk = [ZMEN 1 700
X Z fHAE> 1 670
RN = 5 K, 2 1410
Ptz £ kD 2 1410
R4 = Wk 1 745
NV & B /h2h 1 700




X Z= LR 1 655
R = TR 2 3 1550
R & Al 3 1550
NIk z= KR 3 1550
NN & /NI 1 750
Pk = XI5 1 780
Pk = PR 1 640
RN = A5z 1 750
X Z L5 1 640
RN = JE R 1 690
N LAY [ 5 B 3 2373
KA EAAT M5 B 3 2373
NN EAlAY ] 5 B 3 2373
R4 O TEALX i 1 850
X ZSE] [i] SR L 2 1290
RN ARFERS Ji] S 2 1290
X JEZFE R 1 709
RN AZERT RS 2 1570
N4 ASERT [Fias 2 1570
KA SR X S K 1 660
NN Al TKiEZ 2 1190
Pk S Ravil iKiEZ 2 1190
X EAlAY ] 4 35 2 1400
RN ALY ] S & 2 1400
Pk 22 J][E 4L X kb5 1 620
Ptk TR X B 2 1300
b0k HEMX BEHMH 2 1300
KA BT ok 2 1420
NN Eird oyl ook 2 1420
R4 O TEALX XA 1 850
Pk R4 X AL 1 489
Pk R4 X Pk 2 1100
Pk O 1R X DA 2 1100
Ptk & AR 1 611
N RS Bt 1 576
KA S 1EAX XD 2 1340
itk O TEALX XD HE 2 1340
Pk QAL AR 2 1250
Pk At TR 2 1250
pilkE &= A5 1 604
X Al AT i 1 527
RN Al AEAT LN, 2 1000
N4 Al A N 2 1000
AN ] AT 1 545
NN Bk HPE 1 720
R4 22 [ 4 X AT 1 440
X Z LRl 1 410
RN = AT 1 550
X AU AT e 1 765
RN = 5y ik 1 590
NV RS Ii1] 2 i 3 2181




X Z= AR 1 545
R = ESR 2 1624
N & 2R 2 1624
KA KA e K 1 430
NN & FANE 3 1851
Pk = RINE 3 1851
XN Z FNEE 3 1851
RN EiiLnl TR 1 850
AR g Mt P 1 677
R =Ranl RSN 1 660
R = R RE I 1 725
NIk ST AR 1 570
itk O TEALX ¥z 1 690
KA = FEBIK 1 500
X ZRIAS R A% 1 490
Pk Rl LN 1 610
Pk AN A ST 1 640
RN AU AT PN 2 1380
N4 IS HT 48 7 2 1380
NIk = TS 1 550
A4 O TEALX il 2 1118
Pk LA X vl 2 1118
X el RS 1 476
Pk O TEALX Tk 3 1004
Pk O 1R X ok 3 1004
Ptk TR X T Hk 3 1004
N4 BT FMIFE 2 1220
A4 BT FMFEIA 2 1220
A4 O TEALX k¥ 1 620
R RS XS 55 4 1 618
X ZSE] A L 1 630
RN A BEAT i 3 1820
X AR AT i 3 1820
RN AR i 3 1820
N Al Zefliog 2 1460
KA Al o 2 1460
itk ZHA 2 1 545
Pk = R 1 735
X B il B8 25 2 1210
pilkE A AT i ST 2 1210
X O EMX JE 4l 4 3 2009
Ptk TR X BB 3 2009
b1k I TEMX Jhl gl 4 3 2009
NIk TR X I 2 1100
A4 O TEALX 2R 2 1100
R4 22 [ 4 X T 2 1700
Pk 22 J] e 41 X Tt 2 1700
RN = M E 1 615
X Z= LV 1 650
RN O TEAEX YA 4 2328
KN4 I TEAL X Ja /Nl 4 2328




Pk Nl BRHCE 2 1240
paiikE AR RN 1 610
N4 O TEAEX Bk 4 1 670
KA BT BRI 3 1910
NN Eird oyl BRI 3 1910
R4 R EAT BRI 3 1910
Pk Al Wit 2 1120
RN = Rav] BikiE 2 1120
Pk O 1R X FEAEF 2 1440
R O TEAEX FEEEF 2 1440
N4 22 J] e 41 X A IE 1 645
KA Rail Sz 2 1250
NN S Ravil B 2 1250
R4 O TEALX ol 2 1380
X SR X A 2 1380
Pk 1 BHAT PR 2 1320
Pk E1 BHAT PR 2 1320
Ptk AT FEut R 2 1314
N4 AT Byt 2 1314
KA EAlAT WEE 2 1206
A4 EAlA WExE 2 1206
R4 ¥ 5 At PIT, 1 630
Pk = S 1 785
RN = 7K JufH 2 1390
X = 7K JufH 2 1390
Ptk AT FKIEM 2 1296
b0k AR S ER) 2 1296
KA B A B g 2 1360
NN S1EER] B o g 2 1360
R4 R EIE 1 705
Pk A AT Ak A 1 710
RN ARFERS o B 1 700
X Z= [ AE A 1 590
Ptk TR X 5 1 1 700
N4 ASERT Tk E A& 3 2289
KA ASERT Tk E A 3 2289
NN AR K [ A& 3 2289
R4 O TEAEX xR 2 1660
Pk O TEAEX YK 2 1660
RN SRR PhFe 2 1250
Pk O 1R X fh e 2 1250
XA Kiidt REE) 1 620
N4 O TEALX ¥ 1 330
KA SR X g 1 754
RANEH HTEMX I 1 850
R4 EZE AT KA 1 427
X SR X i 1 674
RN AT EAE 3 1034
Pk AT AR 3 1034
RN AT EAL 3 1034
NV & FEkz 3 1451




X AR EMe 2 1110
paiikE TR X X4 1 674
N & IS 1 233
A4 S 1EAX Wl 7 1 550
NN O TEALX FE R, 4 632
R4 O TEALX FE R, 4 632
Pk O TEALX FE K, 4 632
Pk O TEALX FE R, 4 632
Pk O 1R X XK 1 483
RN = B A 2 1266
N & JERRRE 2 1266
NIk = TR 2 866
R = AR 2 866
R4 O TEALX B 5k 1 313
Pk TR X AL 1 750
K AEE & ZE 1 810
Pk 22 JH [ 4L X B2y 2 670
Ptk 22 J] [ 41 X Z 2 670
b0k HEMX VLN 1 820
KA = S35 1 415
NN 22 J] e 41 X SR 1| 1 615
R4 O TEALX ik ik 2 970
Pk R4 X gk 7 2 970
RN 2 NS 1 487
AR 22 9 i 4 [X XI] i A 1 650
Ptk 22 J] [ 41 X BEEAR 4 2060
N 22 J] e 41 X BER 4 2060
KA 22 J] e 41 X BER 4 2060
NN 22 JR A 4 X BER 4 2060
R4 R EAT IH 1 600
Pk A FAT #pyza 1 620
Pk A B 1 650
XA =TA EES2)] 1 600
Ptk EAAT PR 1 657
N RS B2/NIN 1 590
NIk ] EHi T 1 620
NN AR A k3 1 545
R4 i) JELES 1 620
X Al AY N A 1 630
pilkE A B E 1 590
X B P 1 700
Ptk ANFTA Ko 1 515
N EFiiln) w2 1 590
NIk EAlA WilAs 2 1060
NN EALAT Bk 2 1060
R4 EAlA R 1 590
X AIEE A ntn] Jeoutg 1 510
RN EESl K2 2 1220
X JEZFE K2 2 1220
RN AEAT =REE 1 550
KR KNS PRt 4 2 1322




Pk SESTN) i 1 590
R SEYN) EE S 1 590
N4 SETN) £k 1 565
KA EIBH A A= 1 590
NN /NS RIEH 2 1020
Pk NS RIEHH 2 1020
XN Kt XK 7 1 570
Pk A AT HkE 1 590
X SET BiE 2 1160
RN SEYN) HiE 2 1160
N4 WEp JHP A it 1 610
NIk Kk XK 2 1152
itk Kiikf XL 2 1152
R4 N[ Z s 1 600
Pk AN A S 1 550
RN EiiLnl 0 1 660
X [ £ 1 550
Ptk AT Lk 1 630
N AZERT X 1 574
KA Kk I o 1 614
A4 ikl Tt 2 1228
RN A Eytie 2 1228
X =R FEE 1 614
Pk SET JAE 1 614
Pk AN A S i) gk 1 574
IR /NS S E 1 624
N ERS PRIFS 1 614
I FNEE [EZY N FRERE 2 1138
A4 Y] A 2 1138
itk AR A A 1 629
X SETN) TR 1 624
RN LA 7 1 495
X Kkt JKEp 1 644
IR Eine ] ZEEH 1 617
N Eine ] A2z 2 1140
NIk Eine ] X2z 2 1140
NN ] ToE 2 1218
RN = T 2 1218
X B b AR EE & 2 1188
RN Bt AEE & 2 1188
X {LEZY ] Jeoit 2 1288
ik HLFZYD ity 2 1288
N /NATRL T 2 1148
NIk N[ T 2 1148
NN Bk FBIE % 1 604
itk PN [SE$ 1 614
Pk AN A FEAR 2 1 630
RN ARFERS BiRFs 1 614
X [ T/hE 1 587
ik P it 1 657
NV A ik 1 597




X EAlAT R 1 617
IR [N A 1 644
N ] JEE5 2 1134
NIk ] JEES 2 1134
NN AR ZH 2 1248
RN Y SE] ey 2 1248
XN B = 1 637
Pk AEAT 15158 75 1 570
Pk At Rk 1 644
IR QAL ABIER 2 1108
N AR A BIER 2 1108
NIk AJERT A= 1 544
NN AR %3 1 594
RN A JE 2 1 604
X Kt D %k 1 604
RN ARZERT Elakiss 1 604
X EEH PN 2 1088
KR =R S AR 2 1088
N HLFZYD] FH &, 1 544
KA BT B 1 644
NN Kiikf XI5 1 574
itk A AT B R K 3 1485
Pk A AT B R K 3 1485
Pk A AT R K 3 1485
X Bt 48470 1 570
IS FIEE wEr XY E 1 544
N /NS BiRAE 2 1188
KA N[ MiRAE 2 1188
NN AR fili N2 1 600
RN K SR 2 1088
X Kt R 2 1088
RN JEX KL o 55 2 1248
Pk EESR] 5 SR8 2 1248
IR Ky 5 3R 2 1208
N Kk R 2 1208
KA ZFH ZEIEE 1 604
NN Kt AN E 1 584
RN ST &=y 1 554
X el 2R o 1 670
pilkE AN A B4 1 644
X AU AT R4 1 650
KR AR B miE 2 1178
N AR B iE 2 1178
NIk ArfE At AR 2 1148
A4 Al AT AR 2 1148
RN K 20 1 610
X Eird oyl Gy AL 2 1208
RN AR AR 2 1208
X Bt LB 1 559
KR kL BT 1 574
NV ARFERY e 2 1218




X AUIEFE iR 1 549
IR =R YRR 2 1188
N ] LAEAR 2 1188
KA N[ TAEE 1 630
NN S1EER] R nEs 1 612
itk EER A4k R 1 604
XN e EAE 2 1188
RN e A 2 1188
X EEH ULk 2 1154
IR =R VL 2 1154
N EFiiln) MZE 1 599
AN LK et BE 2 1218
itk At BE 2 1218
Ptk A AT [ RIAN] 1 580
X e XIPAT 2 1178
RN e XIPAT 2 1178
X Eilnl BIEFs 2 1194
ik A BT 2 1194
N4 BT L 1 541
NIk H FHAL (EHEIDS 2 1208
NN S1EER] (GRS 2 1208
RN = 2R 1 614
XA B b At S bl 1 604
RN AU AT LA 2 1198
X AU AT Sz 2 1198
IR [N Bl S A 1 574
N4 Al A ik A 1 669
KA AU AT e 1 614
NN ikl AB4E Y 1 614
RN A IS 1 614
X JE XA ZEH BT 2 1288
RN JEX KL ZEH BT 2 1288
X AU AT B 22 B 2 1208
IR AU AT B 22 Bl 2 1208
N EESR) FEAK R 2 1248
NIk JEZ A FEAK R 2 1248
itk WEH XITFF 2 2 1138
RN WER X2 2 1138
X Kt P fi 53 1 580
RN RFAT A% 1 604
X Kkt [ 2 1248
KR Ky Ear 2 1248
N EFiiln) & 2 1218
NIk EFiilnl B 2 1218
A4 ASERT I 1 605
RN AR P RK 2 1180
X AR TRK 2 1180
pilkE A [f] 3 1690
X EAAT 4= 3 1690
ik EALAT DL 3 1690
NV ARFERY KATE 2 1130




Pk EALAT Tk FF 1 610

IR LAY fai A B 2 1100
N LAY fa A B 2 1100
KA EAAT MR T 2 1140
NN EAlAY AR vt 2 1140
RN = IR TT 1 550

XN pNi] ey 2 1302
RN N x5 2 1302
X AR B 2 1200
IR AR = 2 1200
N kL 2834 [F] 2 1130
NIk kL 2834 [F] 2 1130
NN AR ERres) 1 675

RN K N 2 1190
X Kt N 2 1190
K AEE {EZY ] ik 2 4% 1 610

Pk B T 1 565

KR /NS B R 2 1200
N /NS R R 2 1200
KA BEEt FE TS % 1 685

NN /NS 2B K 2 1140
itk AN A AR, 2 1140
X Al AY M TS 1 605

Pk NTER) Mra o 2 1150
X AN i os 2 1150
IR Bl EXT5 1 575

N4 EALAT W2l 3 1690
KA EAlAT W2 Rl 3 1690
A4 EALAT W2l 3 1690
RN AR [ S5 1 590

X =R =il 1 585

RN Kt [ g 1 640

Pk N B A A 1 625

IS FIEE R EAT 7 1 5 1 650

N EFiiln) i 2 1116
NIk EFiilnl Yilkis) 2 1116
itk Kt 3% Ak BH 1 675

RN el Egn) Fili A 2 1156
X Vel Eg) fili A 2 1156
RN Rl FiE 3 1861
X =Rl FiE 3 1861
KR At VR 3 1861
N W S 3 B 4 2260
A4 Rt JE 2 W 4 2260
NN WA Ji 3 B 4 2260
RN WEH JE 5 4 2260
X EALAY MG 2 1120
pilkE A M2k 2 1120
Pk ALK [ %2 1 650

KR Eine ] T 2 1020
NV E{wEOY N} T 2 1020




Pk Y] Xt 4 4 2160
IR LAY Je RN 2 1250
N LAY J A 2 1250
KA BT 5y % 1 555
NN KAt ZUtt 2 1110
RN K T 2 1110
XN JE XA ey 4 2260
RN JEX KL x5 4 2260
X JEZFE x5 4 2260
IR JEZ A =5 4 2260
N Eine ] A 224 1 600
KA EAAT Tk 1 595
R AJERT Ji] 4 T 1 545
RN A F1g 2 1110
X el Tt 2 1110
RN Bt R 2 1250
X Bt R 2 1250
IS FIEE BT S 2 1030
N ERS S AT 2 1030
NIk Al LRz 2 1200
NN Al LRz 2 1200
itk LA 7B &N 1 610
X el 2 2 1050
RN EFilnl 2P 2 1050
X VeE: vl Jiti 13 2 1170
IR VRt Jiti ) 2 1170
N4 WEp JH Al 3 1651
A4 wEr JH Al 3 1651
A4 WEH JH Al 3 1651
itk AR ERY TR 1 600
X WER JE A 1 650
RN SR XI| 1 655
X EEH B EF 1 575
Pk WER St 1 590
N4 BT 22 1 625
AN /NS BN 1 654
NN AU AT Tk B 1 604
itk AN A SEHER 1 642
Pk AN A Szt ] 5 2995
pilkE AN A Szt ] 5 2995
Pk AN A Szt 5 2995
IS FIEE NN B S| 5 2995
b1k /NATRL Sz 5 2995
NIk AR R 1 675
A4 HUPZYR) FIE i 1 580
itk Y] I 1 525
X SETN) A8 BT 1 580
RN EFiilnl NiRELER 3 1651
X Eilnl NiHELER 3 1651
IS FIEE il iR Et 3 1651
NV Kk AR 2 1100




X A ZEN 2 1240
IR Eine ] ZEN 2 1240
N EFiiln) e 2 3 1731
NIk EFiiln) A% 3 1731
NN ikl e 2 3 1731
RN A A 2 1154
XN el A 2 1154
RN Kii st T#i 3 1640
X Kkt BRI 3 1640
IR Ky B ib 3 1640
N4 Kk X o 2 1360
NIk Kk XI5 2 1360
itk E&r TREM 2 1288
RN [Nl TR 2 1288
X SETN) AR 7K 3 1781
RN SETN] A5 MK 3 1781
X SET A5 RIK 3 1781
KR Bl s 3 1702
N EFiiln) o 3 1702
NIk EFiilnl ey 3 1702
A4 ASERT REIC 2 1274
RN AR RETG 2 1274
Pk SESTR R EiE 1 540
RN AR D] 2 1214
X AR D] 2 1214
IR SEETR JH 4l 1 574
N Eine ] Z[H g 2 1148
NIk Eine ] Z[H g 2 1148
NN Kiikf A7 IA 1 530
RN A IRAHMR 4 2320
XA Ei Ll IRHRR 4 2320
RN EFilnl IR 4 2320
X Eilnl XM 4 2320
ik kL A3 3a Et 2 1120
N kL Al 5 B 2 1120
KA A& HT Z/NE 1 450
itk ASERT 1 1 660
RN AR REE 1 510
X B b 5755F 3 1765
RN Bt 57555 3 1765
X Bt 55555 3 1765
NFNEE A1 1A FEF 1 525
N Eisd oyl 7K I8 B 2 1100
NIk B K18 B 2 1100
A4 E&r B 3 1850
RN [Nl PR 3 1850
X i) FEEEIL 3 1850
RN SETN] XINT A 2 1080
X SET XINTAE 2 1080
KA E BEAY Fifi e 2 1200
NV H BEAY Fifi 5 2 1200




X JEZFE £ 2 980
ik EESA ] 2 980
N4 Y] JHKZ 1 610
NIk kL A L35 1 540
NN WA A 2 1260
RN e EZi53 2 1260
XN SETN) A 1 530
RN Al AT EE s 1 530
X EAAT gk IA 2 1140
IR EAlAY koK 3 2 1140
N /NS Tk 1 530
NIk H FHAL Je WL 2 1120
NN S1EER] FEHESC 2 1120
RN [Nl B ik 1 520
X AR ARG 1 580
RN = Rav] 2Rt 2 1180
X = Rav] 2Rt 2 1180
IS FIEE Ky X6 1 610
N 1 FHAL Foigts 1 570
KA ZFH ZI 1 605
NN /NS AL 2 1080
RN /NS EAi 2 1080
KN4 B b 4535 3 1670
RN Bt 4R 14 3 1670
KN4 Bt 4535 3 1670
IS FIEE HBHAL 3 3 1730
N 1 FHAL H 3 1730
NIk H FHAL H 2 3 1730
A4 ZEA SRR 1 710
RN WER JHaiA 3 1580
X e JHaiA 3 1580
RN e JHaiA 3 1580
X Al AT RN 2 1130
IR QAL /N 2 1130
N LAY X754 1 550
KA Ky ZENTF5 2 838
NN Kiikf AV 2 838
RN 1 FHAL ZEH X 2 920
X 1 BHAY FIN 2 920
RN A AEAT 7K AT 1 510
Pk Eirdon] [i1] A Jik 1 510
NFNEE RFNEL WigiE 2 1020
R RFNEL PigiE 2 1020
NIk et Al AR 1 540
NN ] R 1 500
RN = i 2 1090
X =R 2SI 2 1090
pilkE B Ay 1 650
Pk [ o 1 575
KR QAL by 1 565
KN4 LY El$E7 7 1 490




X Bt E P 2 1100
IR kL AT 2 1100
N4 Y] LN 1 540
NIk AR Jiti 1E I 2 1006
itk AR Jit LE I 2 1006
RN A R 1 550
XN [EEaUN] Pk 2 1100
RN SR R 2 1100
X ESYR) BI% 1 500
IR /NS RIERH 2 1100
N /NS IRIERH 2 1100
NIk kL R 2 1100
itk ¥ 5 A Wik 2 1100
RN el SR E 2 1140
X JE XA SR E 2 1140
RN e FBAE b 2 1060
pilkzE W aR FBAZ i 2 1060
KR Ky BB 5 1 590
N EFiiln) IR 2 1080
NIk EFiilnl IR 2 1080
R ikl izt A4 1 570
RN AU E =KVl 3 1670
X AU E =KVl 3 1670
RN AU AT =iVl 3 1670
X A FRES 2 1060
IR Eine ] BES 2 1060
N4 IS HT Pt 2 3 1790
KA A& HT fAgs 3 1790
NN AU AT P 3 1790
RN = e 1 550
Pk NTAY kot 1 600
RN LA e 1 650
X e XFFAE 2 1100
Pk WER XA 2 1100
N kL T ine 4 1840
NIk ¥ 5 At i Tine 4 1840
NN leanl i 4 1840
RN Bkt e 4 1840
X Kt W IE B 1 610
pilkE AN A RSB 1 574
Pk Kiidt S 1 610
IS FIEE ASERT 25 L 1 540
N4 ASERT ES I 1 600
NIk [EEon) LR 3 1730
NN St LR 3 1730
RN [kt v 3 1730
X Kt PSR 3 1580
RN Kii st RITt 3 1580
X Kii kst PSR 3 1580
IS FIEE ArfE At YRR 3 1699
KN4 Al AY HEM 3 1699




X AN T 2 1100
IR /NS Tt 2 1100
N o] fili P4 2 620
KA BEE f: 5 4E 2 620
NN ¥ 5 At LA 1 520
RN A el 2 1140
Pk Ei Ll AL 2 1140
RN AR W 1 550
X Kkt 4 1 610
IR Bl & e 3 1570
N EFiiln) B 3 1570
AN EFiiln) Z= e 3 1570
NN ST Mg 2 1220
RN ST Big i 2 1220
X =R GLE: 2 1120
RN EEH GLIE:) 2 1120
X Kkt P A 2 1200
KR Ky P AR 2 1200
N4 EIBH A KR 1 600
NIk EFiilnl 2R 1 580
A4 S Ravil W & Rl 1 640
itk Y] S 2 1060
X AIEE {EZYN) S 2 1060
RN Al AT s 2 1080
X Al AT ik s 2 1080
IR =R JHA-%5 1 460
N Kk BiE~ 2 1250
NIk Kk BiE~ 2 1250
A4 N[ ] S B 2 920
itk NATAY [ S 1 2 920
Pk {EZYN) Wi fil 7 2 1020
Pk Y] K f 7 2 1020
Pk ARFERT Gy AR 1 520
ik LAY PVl 3 1289
N4 HUPZYR) Vil 3 1289
R AIEE Y] E'Vil 3 1289
itk EAlA BB 1 620
itk IR MRAL TS 1 540
Pk HLEZYT) N2 1 580
pilkE SEST) I 1 580
Pk ISR PN 2 1260
KR AR A% 2 1260
N EFiiln) BAeAA 2 1080
NIk EFiilnl B 2 1080
A4 HUPZYR) e 2 1020
S HIE {2 N) B 2 1020
X Ei Ll i e 2 1100
RN EFiilnl =l 2 1100
X HEZN) B 22 H 2 1020
ik HLFZYD B 22 1 2 1020
RANH F AT A 1 600




Pk BEALAT Tk k% 3 1835
IS FIEE EAlAT 7Kk % 3 1835
N4 EAlA 7Kk % 3 1835
NIk EFiiln) S 7K 2 1120
NN ikl S 7K 2 1120
itk JEZ AT b5 1 590
Pk Al RS 1 570
RN ALY JifE R 2 1308
Pk EALAT JAtE R 2 1308
IS FIEE il o 1 570
N4 EFiiln) XIYEF5 1 620
NIk EFiiln) XA FF 1 620
NN ZHA R4 1 530
Ptk AR A BOBR 1 565
X =R Sy TR 5 3010
RN EEH Sy R 5 3010
X EEH Sy R 5 3010
KR =R S AR 5 3010
R ] 5 R 5 3010
KA AR REYES 1 620
NN leanl A5 2 1100
RN Bkt A=Y 2 1100
X AU E il 2 1070
RN AU AT il 2 1070
XA ¥ bt 442 B 2 1100
IR kL 415 22 B 2 1100
N USRS BEHE 1 660
KA il R 1 610
A4 A = 1 540
itk A R 1 610
X Kt R 1 620
RN Al AT ik 2 1060
Pk QAT Bl 2 1060
ik HLFZYD ot 1 610
N4 A AT B 1 620
KA ASERT ikiE 1 580
NN Kiikf TR 1 360
R A JE B B 1 600
IR R4 1A FKkF13C 1 640
RN Eilnl o2 3 1670
X Eilnl ok 3 1670
IS FIEE ZA i 3 1670
N 1 FHAL Lk 1 550
ARFNEH RIS iR 1 590
NN Eird oyl HRAE 3 1510
RN A fHRLE 3 1510
Pk BT R 3 1510
X AEE WER JAEE 1 520
KA E1 BHAT 2 1 590
IS FIEE ArfE At JE S kE 2 980
KN4 Al AY JA etk 2 980




X EAlAT KT 3 1570
IS FIEE EAlAT K E 3 1570
N4 R g 1 560
A4 EAAT it 1 550
NN ] Gy R4 2 1020
R A 5y A4 2 1020
Pk JE AT FAE% 1 485
RN Al AT KiEFH 2 980
Pk A ki 2 980
IR AR VL 2 1100
N AR VL na 2 1100
NIk AR LI 1 630
itk ikl =t 1 640
Ptk AR ERY A 1 710
X Kt A TS 1 550
RN 1 BHAT WK K 2 1120
X E1 BHAT WK K 2 1120
KR kL 4l NcE 1 560
N ] LI 2 1120
NIk ZFH LS 2 1120
A4 A BaF 1 600
RN /NS e H 2 1020
X ANGEER = H 2 1020
Pk EALAT AN 1 550
Pk AN A EHE 1 570
IR Bl TR bR 1 500
N AR A e 3 1991
NIk QAL P 3 1991
NN AR A LA 3 1991
itk LA e A 2 1060
Pk EALAT # B 2 1060
Pk ANFTAY ik 4 1040
X AIEE AN A ik 4 1040
A4 NN Bikk 4 1040
N4 NGRS ks 4 1040
NIk il KKt 1 610
itk Kt JH BB 1 590
RN e BIEER 1 600
X AIEE ALK kit i 1 620
X AEE WAt EEH 1 630
X EAAT #HAF 3 1600
ik EAlAT T 3 1600
N4 EALAT Vi 3 1600
KA N[ XI5 1 600
A4 EIBH A H i i 1 450
itk Y] [P 1 530
ke Al AEAY T T 1 490
RN AL R JiH 2 1240
X EAAT IR 5 2 1240
KR A JeiE Al 2 1020
NV N o=l 2 1020




Pk A AT Jkytza 5 2000
ik AT Tyt 5 2000
N4 A AT Tkt 5 2000
KA A Tyt 5 2000
itk HUPZYN) kAt 1 570
itk W EH AR 1 510
XN 1 BHAY i Ak 1 640
RN =R A 1 475
Pk QAT KRB 1 570
IR A B 2 1070
N Al o 2 1070
KA ASERT FA LB 1 570
itk N[ R 2 1060
RN /NS T 2 1060
X AU EL A 2 1306
RN AU AT e 2 1306
X Eilnl ik 1 610
ik HLFZYD Al N % 1 590
N4 A AT b 2% 1 490
KA N[ 95 3 1380
NN /NS B2 N 3 1380
itk AN A 3 N 3 1380
X Kt Uk 4 1 510
A Kiipt e B 2 980
X Kkt =) 2 980
IS FIEE HBHAL R 2 980
N4 H BEAY R 2 980
NIk QAL X224 2 1120
NN AR A A 224 2 1120
itk AN A AT 1 510
X el EZ) P4 B 2 1038
RN AUIEHE MR4ET 2 1038
X AUIEFE il kAT 1 650
IR AU AT AR 1 470
N il 2 1 710
NIk EFiilnl kY 2 1120
NN ikl kY 2 1120
RN AU E 55 1 550
X Kt i v 1 525
KA Eilnl 3 1 580
X AUIEFE B4 E B 1 450
IS FIEE EZE A EEMT 1 560
N AR ki 1 535
ARFNEH RIS E N 3 1829
NN NS e N 3 1829
RN FIEL KB 3 1829
X =R Sy BHAR 1 465
RN EFiilnl JE A B 2 920
X Eilnl JHAH 2 920
KR R BER B 1 550
KN4 A HEA AL 2 970




XA % bt JEAL AR 1 560
NFNEE RFNES BRI R 2 920
N RS BRI 2 920
NIk EFiiln) EAkE 1 570
itk H BHAY N 1 510
RN A &4 1 610
XN EALKT LN 2 870
Pk Al ZE Rk 2 870
Pk AN A B 4 4 1920
IR /NS B 4 4 1920
N /NS BRI 4 4 1920
NIk /NS B 4 4 1920
itk N[ 2 2 940
Ptk AN A 2 g 2 940
Pk {EEYD X & 1 525
Pk ARERT B 2 950
X AR LD 2 950
ik Ky X # 1 610
N4 BEZE AT ki 1 640
KA BT ZE/N R 1 610
NN Eird oyl FMHEE 1 500
itk A AT JEAE R 2 1040
Pk AT JEAE A% 2 1040
Pk WEr XIFF B 2 960
AR W ett XIJT i 2 960
IR A BIER 1 480
N4 WEp {134 1 490
KA [EEon] M+ 2 920
A4 E&r BE T 2 920
RN = B 4 1940
XA =Th BRI 4 1940
RN EEH B 4 1940
XA =TA Bt 4 1940
IR /NS EGIRS 3 1529
N /NS EGIRS 3 1529
NIk /NS FEAHE 3 1529
itk EALAT [ 25 1 630
R ¥ s At A R B 2 1100
X B b At 5 2 1100
pilkE A AT SR B 1 510
X e FR 2 990
IS FIEE wEr FrF 2 990
N4 ZEA AR 1 548
NIk Ky T eAfh 1 480
NN KAt % &AL 2 1148
itk Kt %S 2 1148
X Kt X & 2 1150
RN Kii st X & 2 1150
X AIEE WEr Ik 2 1208
IS FIEE wEr YD K 2 1208
KN4 A EPEFS 1 594




X E1 BHAT S 2 1072
IR Ky W 2 1 604
N AR R 3 1660
KA ASERT Z= K 3 1660
NN AR R 3 1660
RN A JEfH 2 1250
R Ei Ll S22 2 1250
RN AR el 2 1070
X RFAT il 2 1070
IS FIEE HBHAL A 2 1198
N 1 FHAL Fr s 2 1198
NIk et FRHEES 1 614
itk ASERT 7K B 0 2 1170
Ptk AR ERY 5K B 0 2 1170
Pk A AT MREH A 2 1180
RN A XA FREl A 2 1180
XA ¥ bt YREESN 2 1150
ik ¥ 5 At EEEN 2 1150
N Kk KA 1 600
NIk Kk AR 2 1260
NN Kt Rk 2 1260
itk Y] LN 2 1208
X AIEE WAt LINE 2 1208
RN Kii st KA 1 585
X E1 BHAT RiEE 1 615
ik il Y SLERS 1 594
N4 A /b3 2 1150
KA AHEA /b Bt 2 1150
A4 AT Bh= 1 470
RN A 4 ip 1 538
X AIEE A ntn] JAEH 1 545
RN 1 BHAT R 4 1780
X E1 BHAT J R 4 1780
IS FIEE HBHAL F R 4 1780
N 1 FHAL Fr R 4 1780
KA ZFH B AL 1 538
itk R EAT B 1 510
itk SESTN FER 1 590
X KAt X|ZE5 2 1410
RN Kt X252 2 1410
Pk ARFERT 2o 2 1274
ik ASERT goie 2 1274
N 1 FHAL AR 2 962
pik:: H BHAY e E 2 962
NN AR A A=A 1 530
RN = Ravi] XU 3 1831
Pk Rl FRAPN 3 1831
RN = Rav] Bt 3 1831
X A AR 1 570
ik EE B EH IR 1 710
NV RS EEES 1 520




Pk EALAT X g 1 495
IS FIEE Ky K 1 510
N o] i 52 1 620
NIk BT PR 4 1840
itk R EAT W 4 1840
itk Eisd oyl 3¢ 8 4 1840
Pk Eird oyl e 4 1840
K AEE B DN 1 550
Pk EBHAT Al R 1 450
IS FIEE NN Vikis P 1 565
N ] TS 1 610
KA ZFH fAD AL 2 980
NN ] fRTFEAL 2 980
X AIEE ALK JH2L 1 515
Pk JEZ AT 5y 52t 2 1160
RN JEX KL kit 2 1160
X AR B4 2 940
IS FIEE ASERT Rk 2 940
N4 et Z5 L 1 710
KA wEr XI55 1 405
A4 ST EAYN) 1 495
itk LA A 1 455
Pk 22 J] e 41 X i /N s 2 860
Pk 22 J] [ 41 X i /N T 2 860
X A | 717854 1 510
IR [N B4 3 1] 2 850
N4 EEr B 3 N1 2 850
NIk ST Bt 1 610
A4 Kiikf FEATE 2 870
itk Kt Fr A 2 870
X el N 1 565
Pk ANFTAY 2R 2 850
Pk AN A ZEEE 2 850
IR Ky A 2 1020
N Kk k] 2 1020
NIk SETN) ETNS 1 660
NN AT BRI 1 407
itk SESTN [ ELN 2 860
Pk SESTR [SELN 2 860
RN EESl ils 1 460
X EAAT Wb = 3 1976
IS FIEE EAlAT KRB 2 3 1976
N LAY Kb == 3 1976
NIk ¥ 5 At IR 1 530
NN AR R 1 470
RN EEal ERF 3 1550
X JE XA ERP 3 1550
RN EESl ERP 3 1550
Pk A AT Byt o 2 1052
NFNEE A1 1A Bt o 2 1052
KN4 A HEAY ik 1 478




X Al AT KA 2 1050
ik A A FE 2 820
N4 A AT T 2 820
IR YN WA 3 2130
itk Y] Pk A 3 2130
itk Y] P 3 2130
XN Eine | it p 28 2 1340
RN Eine ] it v 38 2 1340
Pk ARFERT B 1 570
IS FIEE AT kA 3 1550
N4 A KA 3 1550
KA AHEA KA 3 1550
itk AR A3 4 1948
RN AR A5 4 1948
X AR ElSS 4 1948
RN AR 483 4 1948
X [ AR 4 1800
IS FIEE EEf e 4 1800
N4 EEr A% 4 1800
KA BEEt A% 4 1800
NN o] [ g [ 2 1120
RN [Nl [ g 5] 2 1120
X AIEE {EZYN) I 1 560
Pk Y] AL EE 4 2180
Pk Y] PALEE 4 2180
ik HLFZYD P 4 2180
N4 HUPZYR) PALEE 4 2180
NIk AR £°F 2 1044
NN AR f£F 2 1044
X AIEE R JAfE 2 1 620
X 1 BHAY FISCE)! 1 528
RN EEH ERRK 2 1020
X EEH ERRK 2 1020
IR Eird oyl ) 1 655
N4 Al A X%k 2 930
KA At X 7=k 2 930
itk ¥ 5 At Ll 3 1510
RN Bkt £ 3 1510
X B b i 3 1510
RN E1H 2 E 1 692
X JEZFE RIF 1 500
ik A A Tk Mt 2 1080
N4 A AT Tk Mot 2 1080
NIk ] 2 1 710
A4 ASERT ik & W 1 538
RN AR I 1 430
X =R ENE 2 1100
RN EEH ZRAE 2 1100
X EEH KT 2 1120
KR R K5 2 1120
KN4 KA ER/NIE! 1 540




Pk AT L 1 640
IS FIEE EEf ¥ir 1 530
N AR A JHALEE 2 1070
KA At JAALE 2 1070
itk AR AR 1 644
itk A AT R 3 1336
Pk A AT R 3 1336
Pk A AT R 3 1336
XA Kiidt Virdi ke 1 510
IR QAL JIAES 2 1142
N AR A JAEY) 2 1142
NIk H FHAL A2k 1 463
NN AR iRais 3 1770
RN AU E A 3 1770
X AU EL Fbavis 3 1770
Pk HIRHT A 2 1132
X AU AT AR 2 1132
IS FIEE EAlAT I 2 878
N LAY ZF51E 2 878
NIk QAL [7E5% 2 1240
A4 Al AT [ 7858 2 1240
RN [kt R 2 1120
X i) R 2 1120
RN AU AT R 1 580
X Kkt iR 1 555
IS FIEE BT At 1 660
N4 Al A [ISES 1 389
A4 BT ot 5 2 800
A4 R EAT it 5 2 800
RN A ik 2 1 530
X AIEE {EZYN) TR 2 936
Pk Y] TR 2 936
X e Xk 3 1529
Pk WER XL 3 1529
N4 b ah XIYEPE 3 1529
AN LK ¥ 5 At A 2 1120
NN ¥ 5 At A 2 1120
RN AR g 2 1060
X AR i 2 1060
pilkE AT ik R I 3 1231
Pk AT ik R 3 1231
NFNEE AR KR 3 1231
N4 b ah ik ie 3 1580
A4 WEH ke 3 1580
A4 o] ke 3 1580
RN A A& 3 1685
X el JEAR & 3 1685
RN EFiilnl JEARE 3 1685
X EEH Sl 4 2332
KR R S 4 2332
NV R L) s 4 2332




X Eilnl Zpie 2 1076
IR Bl AR g 2 1076
N4 ASERT HPE 1 570
NIk /NS B 2 1040
NN /NS B 2 1040
itk B AT ZEHU 1 600
XN A Pihe 1 417
RN Al AT JEEiva 2 884
X Al AT JEEiva 2 884
IS FIEE ASERT JEl5%2)] 1 479
N 1 FHAL MRTES 2 1020
NIk H FHAL MRTES 2 1020
itk ZEA SR 1 610
RN ST AN 3 1649
X SETN) £z N 3 1649
RN SETN] AN 3 1649
X Al AT M= 2 860
IS FIEE ArfE At ¥z 2 860
R ] KT 1 524
NIk Eine ] 4= 1 540
NN AR A i & 1 400
PNk Rl T LET 2 1230
X Al it 2 1230
RN EEH A 75 3 1274
X =R 5> 3 1274
IR =R 75 3 1274
N Eine ] L 22K 4 1616
NIk Eine ] LR 4 1616
NN Eineyl L 22IR 4 1616
RN o R 4 1616
X SETN) ZRE 2 1120
RN H 5k REE 2 1120
X AIEE Y] J7 Nitg 2 930
ik HLFZYD J7 Ritg 2 930
N4 HUPZYR) BHIEYE 1 670
KA SETN) AL 3 1715
NN ST PG 3 1715
RN SETN T 3 1715
X ALK Ytk 1 520
RN Eilnl 2 ig 1 470
X E1 BHAT (R METS 1 410
ik HLFZYD XS E 1 570
R ] FE 2 910
PN LK ZEh hEE 2 910
NN Bk BKAE 3 1424
RN Bkt KA 3 1424
X B b KA 3 1424
RN Bt JEeA 1 590
X Eilnl ik A 1 544
KR Ky X 5e 2 1248
NV Kk X 54e 2 1248




X Bt EEE 3 1644
IR B 5 A JEEE] 3 1644
R Kk 7 4 2192
NIk Kk 7 4 2192
R Kiikf EF 4 2192
RN K +F 4 2192
XN Kt Ig/ 1 2 768
RN Kii st g1 2 768
AR Waer =Y 2 1100
IS FIEE wEr B B A 2 1100
N EESR) B R 1 566
NIk EFiiln) %% 3 1530
NN ikl %% 3 1530
RN A g 3 1530
X =R R 2 1102
RN EEH EES 2 1102
Pk EEH X[ 75 2 970
IS FIEE =R X 75 2 970
N Al DESHLE 1 470
KA KAt IR 2 940
A4 Kt IR AR 2 940
itk AN A BN 2 1080
Pk AN A BN 2 1080
X AIEE WEr JA g 4 2040
X e JH=ie 4 2040
Pk WER JH=iE 4 2040
N WER JH =i 4 2040
KA A {r] I A 1 610
NN leanl ARl 2 1080
RN L3Nl ARk fil 2 1080
X Eird oyl Y58 3 1800
RN AR DT 3 1800
X B DT 3 1800
IR =R X RAE 1 590
R EFiiln) SEiEiS 3 1779
KA il SIES 3 1779
R ikl SEiEie 3 1779
RN 1 BHAY e 2 996
X 1 BHAY e 2 996
pilkzE QAT X2 3 1851
Ptz QAT X2 3 1851
KR QAL A2 3 1851
N4 BEZ AT JEAERE 1 570
ARFNEH A A R 1 500
R AR F i 1 400
itk & AT 2 1 550
Pk PN bl 1 247
pilkE Eirdon] FRE 1 317
Pk Eirdon] TR 2 1050
KR Eird oyl T 2 1050
NV KNS BN 4 1704




Pk B Mz 1 521
IS FIEE Ky BN 3 2070
N4 Kk B 3 2070
KA Kk e 3 2070
NN AR ik E 44 3 1627
itk AR SERY gk E 4F 3 1627
Pk AR SERY gk E4F 3 1627
Pk {EZY ] XIHR I 1 500
Pk A AIAT E32] 1 460
ik P @l 1 660
N4 ASERT oAl 1 500
KA EAAT [ A 2 824
itk EAlA [ AR 2 824
IR R4 EEr S e & 2 920
XA Eatt JE e & 2 920
RN EEH RS E 1 594
Pk A AT ity 1 392
IS FIEE NN R 2 704
N4 NGRS R 2 704
NIk ST MraE g 1 710
A4 WEr J& i 1 670
RN AR BmZE 2 1040
X Al AY BmZ& 2 1040
Pk ARERT IR M 1 610
Pk Bt P 2 1350
IS FIEE ¥ 5 At P EF 2 1350
N4 NGRS X0 1E 2 676
KA N[ X0 1E 2 676
A4 AT B 1 452
itk AR A FhE 1 610
RN Y] EE v 2 1230
Pk Y] JEEil 2 1230
Pk At Z#=3E 1 610
IS FIEE Ky X 75 2 980
N4 Kk X175 2 980
NIk /NS EEE 3 1850
NN /NS EEE 3 1850
itk AN A BHER 3 1850
X =R TKiE 4 2 962
KA E1H TKiE 4 2 962
X Al AT A 3 1555
KR QAL FE 3 1555
N AR A B 3 1555
KA ASERT kK ZE 2 980
A4 ASERT Tk Ik ZE 2 980
itk Y] Jiti G % 1 620
Pk AN A JEE u1 2 1170
pilkE AN A S F v1 2 1170
Pk SESTN] HIR ST 1 430
IS FIEE ArfE At XIZE AR 1 660
NV et fafRE 2 674




XA Kiidt i 3 1790
IS FIEE Kt B e 3 1790
N4 KAt B 3 1790
KA et MRKAE 4 1700
NN Eineyl MRk 4 1700
RN i BRkA 4 1700
XN Eine | MRkAE 4 1700
Pk B i /b K 1 570
X A AT AR 2 1220
IR VRt AR 2 1220
N4 AR JHEE 3 1561
KA AR AEE 3 1561
NN AR SR 3 1561
RN AR T A 1 393
X Kt 1 v Ak 3 1686
RN Kii st [N 3 1686
X Kkt B 3 1686
KR EAlAY THER 2 1210
N LAY THEE 2 1210
NIk Kk Tk 3 1510
NN Kiikf Tk & A 3 1510
RN K gk & dE 3 1510
X = RAvi] (L] 1 680
Pk QAT B 1 570
X Al AT ] %1 1 356
A4 e i) K 2 820
N4 il TEK 2 820
NIk ] JHFER 1 460
A4 E&r A EELE 1 610
RN = LIPS 1 524
Pk AN A RIET; 2 1020
Pk ANFTAY RIETS 2 1020
X AR ULk 1 610
IR =R ZEE 4 2508
N ] ZiEE 4 2508
NIk ] Dk 4 2508
NN ] ZiEE 4 2508
itk { Y T A 1 542
X e RS 4 2252
RN e ERERS] 4 2252
X e EERS] 4 2252
KR WER iR 4 2252
N4 H BEAY NG 1 340
KA AHEA Tk g 1 540
NN AR A 5 i 2 1100
RN AR 5 St 2 1100
X AR AR 1 657
RN AR iR 1 470
X EEH g 2 1262
KR R B 2 1262
NV ik e S 1 530




X N SCEE 4 1984
NFNEE RFNES pra | 4 1984
N RS S 4 1984
NIk Kk T 4 2200
NN Kiikf T 4 2200
RN K T 4 2200
XN Kt B 4 2200
RN ARFERS MA) 1 558

X [ = 1 600

IR EAlAY (ERAN; 4 2156
N LAY A AR 5] 4 2156
KA EAAT JaTAR 5 4 2156
NN EAlAY AR5 4 2156
RN AR FEAS JEES5 1 601

X EALKT [ 5l B 3 1393
RN ALY [i] 4 B 3 1393
X EAlAT [ 4% Bl 3 1393
IS FIEE wEr X% 1 398

N4 EALAT 7k ik 4 2036
KA EAlAT 7k ik 4 2036
A4 EALAT 7k ik 4 2036
itk LA ik [ ik 4 2036
Pk il gyl FNEEDE 1 450

RN N NV 4 1960
X FIER XA NI Hg 4 1960
IS FIEE IS FNEL PV 4 1960
N RS NI 4 1960
I FNEE VD] Pkt 1 450

NN ikl BN 3 1631
RN A BN 3 1631
X el BN 3 1631
RN EEH A 1 295

X A BRIERE 1 510

IR AJERT ZRLeRs 2 980

N4 ASERT itk 2 980

KA At Byt 4 2360
NN AR A Byt 4 2360
RN AR Bt v 4 2360
X Al AY Bt v 4 2360
pilkE e A BEARAE 2 1022
X Al AT PEA AL 2 1022
ik A A TKIEA 1 670

N4 WEp XX 2 1380
A4 WEH XX 2 1380
NN AR A i 3 1484
RN AR i 3 1484
X Al AY i 3 1484
RN ARFERS R 2 1220
X ARFEFS R 2 1220
IS FIEE ASERT Tk 1 660

KN4 KA 28 2 696




Pk ARFERT gk /bR 1 570
ik SRR B 1 560
N4 il BB 2 802
NIk EFiiln) AR 2 802
NN Eineyl ZREAR 4 1864
RN i ZRIEAR 4 1864
Pk -t FHEA 4 1864
RN Eine ] ZRIEAR 4 1864
X Eilnl FG IR 4 2220
ik il (SRS 4 2220
N4 il SR 4 2220
NIk il (SRS 4 2220
itk H BHAY AR B 2 952
RN 1 BHAY AR B 2 952
Pk LAY [ 57 1 520
Pk Al palbines 2 784
X EAAT palbines 2 784
IS FIEE ASERT aall 1 710
N4 A AT S 1 460
KA At FE R 2 840
NN AR A B 2 840
itk SESTN e 1 610
X Kt X ke 2 986
X AIEE Kii st X[ e 2 986
Pk A AT oA 25 1 470
NFNEE TR ik [ 1 574
N ] ] 3 1811
NIk ] ] 3 1811
NN ] ] 3 1811
itk R AR 1 610
X B B 1 510
Pk B I 1 392
Ptz LAY B 1 510
IR AU AT AR 1 460
N4 NGRS X%k 2 1056
KA N[ X%k 2 1056
itk EESA 5 5 1 610
RN ST 0T 3 1729
X SETN) 0BT 3 1729
RN SETN] 0BT 3 1729
Pk A AT 1 2 i 1 585
KR /NS ZIE% 2 684
N /NS BIE% 2 684
AN A A vEE 1 434
NN St P75 4 1460
RN [Nl bl e ad 4 1460
X [Nl b 75 4 1460
RN SR hp 75 4 1460
Pk Eirdon] S 1 510
KR A HHAE 1 410
NV W S il 1 560




X Al AT F k4t 1 670
IR kL A5 K 2 1230
N kL A5 NK 2 1230
KA EAAT A 1 470
itk H BHAY e W 3 1670
RN 1 BHAY I W 3 1670
XN 1 BHAY e W 3 1670
RN EiiLnl JH R 4 1540
X Eilnl JH K 4 1540
IR Bl JE A 4 1540
R Z JE A 4 1540
KA et /N F 1 470
itk HUPZYN) ER 1 710
RN AU E (e 4 2400
X AU EL el 4 2400
RN AU AT (e 4 2400
X AU AT el 4 2400
KR H BEAY EINES 4 1680
N 1 FHAL NS 4 1680
R AIEE B A EINES 4 1680
NN S1EER] EINES 4 1680
itk A AT Ji ke 3 1699
Pk A AT i ke 3 1699
Pk A AT Ji ke 3 1699
Pk ESi:lal B2 4 1968
IS FIEE ZA ZEAR I 4 1968
N4 il ZEAR I 4 1968
KA il AR I 4 1968
NN AR A XA 1 510
itk NATAY BEEE 2 880
Pk NTAY BEEE 2 880
X AIEE {EZY ] XK 1 410
X Eilnl JH K8 1 570
IR /NS B 4 2176
N /NS ¥ 4 2176
NIk /NS B 4 2176
NN /NS - 4 2176
RN RIS K] 2 1180
X RIS 7K Fi] 2 1180
pilkE A HIH 2 902
Pk BEALAT HGIL 2 902
Pk EAlAY [ 1 490
N Eine ] BE 1 535
NIk HLFZYD] XA R 1 514
NN 1 BEAY PRAR S 3 1628
RN 1 BHAY BRAR S 3 1628
X 1 BHAY BRARSL 3 1628
RN A BEAT AR AL 2 1190
X A REAT K yAEa 2 1190
IS FIEE ASERT g 1 630
KN4 WEA iy 1 392




Pk BEALAT M 1 510
IS FIEE EAlAT A 1 575
N AR B4 A R 2 1058
KA ASERT B 2 1058
itk Al AT AL 1 320
RN AR X G4 3 1689
Pk R X4 3 1689
RN AR X G g 3 1689
XA Kt K 3 1531
IR Ky iK% 3 1531
R Kk K 3 1531
KA AR Jiti 1E 4 3 1550
NN AR Jifi IE4E 3 1550
RN AR it IEAE 3 1550
XA wEpt AT 1 710
Pk Eine EARYE 1 650
AR W ett XL 3 1559
KA WER XIFFFE 3 1559
N4 WEp XITFF Fe 3 1559
I FNEE VD] PALES 1 379
NN EESR) SEE 4 1800
RN EEal o SR 4 1800
X JE XA SR 4 1800
RN JEX KL SR H. 4 1800
AR WEr DDA S 1 607
ik BT BRI 2 1260
N4 BT BRI 2 1260
KA At e 2 1040
NN AR A 2l 2 1040
itk Kt R 1 563
Pk QAL |75 1 660
RN Kt ZE4e 2 1180
X Kkt ZE4s 2 1180
IS FIEE HBHAL JANL 1 515
N4 b ah XL 2 1420
KA wEr XL 2 1420
itk H BHAY i 1 570
itk Eisd oyl IR 2 992
X Eird oyl FBIEZE 2 992
RN Kt i IEAR 3 1500
KA Kkt B AR 3 1500
IS FIEE Kt fE AR 3 1500
N EESR) JH 3L 1 510
NIk kL e 1 585
A4 R EAT 5y s 1 710
RN i 7= [E 48 2 1270
X Eine | Z[H R 2 1270
RN Bt AR4F0 1 590
Pk AT gk /b IF 1 584
IS FIEE NTER] BARME 1 557
NV Kk 55 1 584




X Kt 75 B 5t 2 1280
IR WER 2R YR 2 1200
N W KRE 2 1200
KA A SIER 2 1168
itk A IR 2 1168
RN e Y B A 1 650
XN Kt XRAS 3 1369
RN Kii st XRAS 3 1369
X Kbt KRS 3 1369
A4 =R 5 B 2 756
N4 ZEA N 2 756
KA Y] PR 2 1150
itk Y] PR 2 1150
RN AR RS 2 1080
X A AY BB o 2 1080
RN Bt 48471 1 660
X A AT HAHE 1 597
ik A B 2 1320
N EFiiln) A 2 1320
NIk EFiilnl FkE 3 1792
NN ikl Frk%E 3 1792
RN A FRE 3 1792
X el FIEX 2 1060
RN EFilnl FIEX 2 1060
X Al AT Bt 1 594
IR EAlAY R E 1 494
N A A (D! 2 980
RFNEH A A (AL 2 980
NN o] it 2 1100
RN [Nl i e 2 1100
X AR ik [E 2 1254
RN AR ik [ 2 1254
X A TS 2 1046
IR Eine ] Pl 2 1046
N Eine ] i i 2 1288
NIk Eine ] P oT 2 1288
NN ZEA A0 3 1 710
RN A BER 3 1484
X A PEE 3 1484
RN AT BER 3 1484
Pk N FKIC ik 2 1110
ik NN Tk TG, 2 1110
N ] XK A 2 1214
NIk ] PN 2 1214
A4 ASERT OE%E 3 1659
RN AR % 3 1659
X AR % 3 1659
pilkE A A BEA A 3 1329
X Al AT A B 3 1329
KR QAL A B 3 1329
NV /N TRk B 4 1680




X JEZFE 2k )1] 1 500
IS FIEE BT & 2 1090
N4 R EAT fhpE 2 1090
KA il B A 1 555
NN WA ZE1l 3 1496
RN e ZE[H 1l 3 1496
XN e ZH 1l 3 1496
RN Al AT R 2 1142
X Al AT R 2 1142
IR EAlAY Fod 2 1190
N LAY rb ke 2 1190
NIk /NS B 1 580
NN AR o 1 545
RN = Ry 1 560
Pk AN A 23 1 550
Pk Al AL 2 1104
X EAAT il 2 1104
ik AT K EFE 1 507
N ALK gk ZA g 2 1200
AN EAlAY Tk Z g 2 1200
NN AR FRE 2 1420
RN AR TRk 2 1420
X AR ¥ 5 1 570
RN 1 BHAT AR 4E 1 605
X Kkt Rz 1 505
IR =R [i1] 24 1 555
N AR TKE 2 2 920
NIk ASERT TKE % 2 920
NN S1EER] B TN 2 1010
RN 1 BHAY IS 2 1010
X el CESS 1 545
Pk AT L 2 1234
Pk AT FILE 2 1234
IR Eine ] i 4 28 1 580
N EESR) FNF 2 800
NIk JEZ A =N 2 800
NN EAlAY ] 4 B 4 2032
RN EALAT ] 4 B 4 2032
X ALK [ 5l B 4 2032
RN ALY [i] 4 B 4 2032
X NS MEA 1 610
IS FIEE NN il 1 610
R Al R 1 520
A4 EESA BN 2 828
A4 EESA £ 2 828
itk R JAEER 1 600
X 1 BHAY Y% 1 610
pilkE AIRHT S pisg 1 664
X e kB 2 1190
KA WER ik B 2 1190
KN4 A AR AR 4 2024




X A REAT Elyanl 2 1240
NFNEE AR 45N 2 1240
N SETN) E|l§E85] 3 1484
NIk SETN) E|l§z85] 3 1484
NN SETN) E§e85] 3 1484
itk Kt TRt 2 880
XN Kt TRt 2 880
Pk HAlAT RGN 1 520
Pk Kiidt [iRERlE 3 1580
IS FIEE Kt Byt i 3 1580
R Kk Byt 3 1580
NIk AR AL AL 3 1558
NN AR fifeie 3 1558
RN AR FEAS fHifeie 3 1558
Pk {EZYN) 2107 1% 1 520
K AEE Y E) g7 5 2 1100
Pk ] g 2 1100
IS FIEE Kt S A 1 580
N AR ESIL 3 1483
NIk AR ESIL 3 1483
NN AR oL 3 1483
RN [kt e 4 1688
X i) FEE 4 1688
RN E&h FEEE 4 1688
X E&h FEE 4 1688
ik Kt 2T 1 454
N /NS A 1 494
KA AHEA KR 3 1281
A4 A AT KK 3 1281
itk A AT gk 3 1281
Pk R XI A B 1 464
RN RFAT SRIE i 2 1238
X RFAT SRIE 2 1238
IS FIEE Wk U A1) 1 414
N4 ¥ 5 At %5 1 414
NIk AU AT LR 1 614
itk NI X 2 878
itk AN A XA 2 878
Pk A AT AR 2 948
pilkE AT RAERR 2 948
R =il HWEKE 1 494
IS FIEE S Rail B 1 494
N4 et ZHEE 1 444
KA kL & &L 3 1607
NN Bk Bk 3 1607
RN Bkt ki 3 1607
X SETN) AT 3 1232
RN SETN] A 3 1232
X SET AT 3 1232
ik wEr JA 45 1 319
NV A i 4 1556




X JEZFE L Eivii 1 392
IS FIEE A EGES 1 514
N EFiiln) Z= 1 554
IR ISV el 2 722
R 2 A B 2 722
RN A s 3 1674
XN el s 3 1674
RN EiiLnl s 3 1674
X JEZFE JEES 3 850
IS FIEE EZE A JEES 3 850
N EESR) EES 3 850
NIk AU AT ) 1 510
NN ALK k= 2 1118
RN EALAT gk 2 1118
X AR T 2 1230
RN AR T 2 1230
X VeE: vl [ 4 1916
KR VRt iR 4 1916
N SRt i 4 1916
NIk YRt Bt 4 1916
R = R 1 515
itk A AT /854 1 550
X SETN) Ele3 1 710
X AIEE WAt FEEM 2 850
Pk Y] FEERR 2 850
IR kL e 1 475
N AR A KK B 2 706
NIk QAL KK B 2 706
NN ] e e fE 1 515
itk AR ERY HAE 2 644
Pk AR SERY HAE 2 644
RN ARFERS g 2 1080
X ARFEFS g 2 1080
ik ArfE At ¥k 75 1 463
N4 BT [ S 2 1 445
A4 wEr X1 FH4E 1 670
NN EALAT R 1 363
RN ST JE %k 1 650
Pk SESTR BAIR 1 507
RN AR EN 3 1541
Pk AEAT E N 3 1541
KR AR EYN 3 1541
N ZEA LN 1 453
KA = Ravil e 4 1568
NN Al o ke 4 1568
RN = Ravi] Hfp A 4 1568
X = RAvi] P4 4 1568
pilkE B K 1 341
X JEZFE FEAK 1 558
KR VRt el 2 590
NV VR Ly 2 590




AR 22 APl ik IX AR 4 1612
paiikE 22 J] [ 41 X ARERE 4 1612
N 22 J] e 41 X Af R 4 1612
NIk [EEon] i JA 2 1180
NN SN i JA 2 1180
R4 R JH 7 7 2565
XN B JE 7 7 2565
RN A JH 7 7 2565
X VeEvnl JH 7 7 2565
RN VeEtnl JH 7 7 2565
N AR JH 7 7 2565
NIk AR JA 7 2565
NN Al AT 7K % ] 2 710
R ArfE AL 7K % ] 2 710
X =R ZEE 1 475
RN A 35 TE 5 2 942
X VeE: vl FEE IR 2 942
RN QLA 1P 3 1499
N AR A Bt 3 1499
KA At ¥t 3 1499
NN ] A o e 1 507
R4 A A K RE 3 1166
Pk A AT gkoR & 3 1166
Pk A AT kR & 3 1166
X QLA XS ST 1 395
RN EAlAT 5 1 515
N EFiiln) EIINE 2 720
NIk EFiilnl (s 2 720
NN ] EAN 1 295
R4 EZE A 5 55K 1 395
X ANGEER PR 1 295
Pk ANFTAY IR 1 355
X AIEE Y] K 2 706
AR {EZY ] AR 2 706
N EFiiln) JE R 1 492
KA wEr F ot 1 605
NN AR AR 1 395
R4 A [ ARsS 3 820
X F A KA fe 3 820
RN £ A AR=s 3 820
Pk Eirdon] BEoiE 2 908
Ptk Eirdou] BEoAE 2 908
N USRS K 1 650
KA Kt EE= 2 866
NN Kiikf EE= 2 866
Pk AU AT XU 4 2500
X Vel Eg) FEXUL 4 2500
RN Vel Eenl EEXURL 4 2500
X AUIEFE XU 4 2500
RN R TKia 3 1169
NV A LGRS 3 1169




X SEETR % EAE 2 1020
paiikE AAIAT e 1 395
N kL R 2 806
NIk kL R 2 806
itk H BHAY i 1 395
Pk AR B4 1 493
XN ZSE] TK K Al 2 786
RN ARFERS TK K A1 2 786
X VeEvnl Jiti LE A% 1 552
RN e S 1 353
N4 WEp AR 5 1 710
NIk EFiiln) i gEds) 3 1175
NN ikl LE4Y 3 1175
Pk ikl LE2Y 3 1175
Pk AN A Ik 1 316
RN Kii st g 1 710
Pk AN A % 2 974
Ptk ANFTAY % 2 974
N 1 FHAL ZER 2 706
NIk H FHAL ZER 2 706
A4 EAlA Bt 2 920
R4 EAA i) 2 920
X ANGEER JEREI 1 710
RN JEX KL ZIEF 2 922
X JEZFE ZIEF 2 922
RN AU AT it 1 414
N ASERT 7K Rt 1 414
R AIEE At MIZ L 1 555
A4 ikl XPDEZ 2 860
R4 i) XIPDEZ 2 860
Pk V& AT il T 5 1 650
RN EFilnl FIH 2 1420
KN4 Bl FIH 2 1420
RN AU AT R 3 1877
N4 IS HT R 3 1877
KA A& HT R 3 1877
NN AR P 1 710
R4 R EAT VL ma 1 650
X KAt BRrii] 1 456
pilkE Bt ST 1 710
Pk [ B 1 576
Ptk ANFTA sk 2 1140
N ZNGIER Tkt 2 1140
KA N[ KH 3 1750
NN /NS Kt 3 1750
Pk /NS Ko 3 1750
X e Ji) 1 710
pilkE AN A Kk A 2 928
Pk ANFTA kKt 2 928
RN 1 BHAT iy 1 512
KN4 E{wEOY N} A4 35 2 830




Pk SESTN) HHAE g8 2 760
paiikE SR ik /N 2 738
N o] it 2N 2 738
NIk BEE il SR 2 1120
NN E&r i SR 2 1120
R Al ZEIER 1 670
Pk KAt JE =y 5 1250
RN Kii st JE =t 5 1250
Pk Kiidt JE =y 5 1250
RN Kii st JE S 5 1250
R Kk JE =t 5 1250
NIk AR HEE 2 1174
R AR B2 2 1174
R RS XK 2 1118
Pk R AIAY XK 2 2 1118
Pk AT FRAN 1 650
Pk A AT TAREE 1 479
RN AZERT pEEES 3 1286
N AR XA 3 1286
NIk AR XA 3 1286
NN Kiikf A4S 1 339
R4 ¥ 5 At EEES 2 518
X B b Ze [H 7% 2 518
Pk Bt £ 1 329
XA Kiidt KA % 2 924
XA Kiidt KA % 2 924
N Kk A 1 609
NIk Al 2N 1 529
A4 ASERT H 2 928
R4 ASERT A 2 928
X AR /b5t 1 650
RN AUIEHE 2 4 2052
X AUIEFE 2 4 2052
RN FUIEFE 2 4 2052
N USRS 2 4 2052
NIk AHEA XI v 28 1 479
NN ASERT A 1 710
R RS BRI 1 610
Pk SRl filio e 1 610
pilkE ARERT e B 2 850
X AR S AT 2 850
ks Kkt o B3 4 1856
N Kk B [ 4 1856
KA Ky 5ii £ 13 4 1856
NN Kiikf o {1 4 1856
R4 ASERT TP 2 498
X AR I Sa)d 2 498
pilkE il P e 2 858
X A B e 2 858
RN Y] XK 2 508
NV HFZYD} XK 2 508




X Eilnl EANE 1 610
R Kii st SRy 1 550
R SETN) JE B 3 1446
NIk SETN) JH 3 1446
NN SETN) J& 3 1446
R N[ BRI 1 710
IR At i 2 1132
RN Al AT SEiL 5 2 1132
Pk A AT Al Pt 1 710
R Eirdou] R 1 510
N /NS Erd 1 419
p ik A A FhFEFH 2 1420
NN AR A FhFRH 2 1420
R4 ASERT ZEFEI 2 880
Pk ATE AT ESL O 2 880
Pk E BHAS [ A B 1 710
X A Bl 2 928
RN A Il 2 928
N USRS KELR 3 1034
KA A& HT KER 3 1034
NN AU AT KEHR 3 1034
R SETN) MR 1 610
XA Ei Ll L AL 3 088
RN EFilnl LA 3 988
Pk ESi:lal I%rhz 3 988
Ptk ERanl R 1 529
N Kk HARK 3 1408
NIk Kk HARK 3 1408
NN Kiikf HAK 3 1408
R SETN) [EEE 3 3 1286
Pk SESTR R 5 3 1286
RN SETN] [IEE 3 3 1286
X Kkt MR B 2 978
RN Kii kst 1B IR 2 978
N4 SETN) AR 2 1098
KA SETN) AR 2 1098
itk ZEA HIE 1 389
R ZEH 51 1 610
AR ATiiAd ZWAN (o 1 410
pilks A 1A FEIIAL 3 1538
Pk AT JEIIAL 3 1538
ks A FE AL 3 1538
N4 Al A e R 1 710
ARFNEH A SEiEE 2 558
NN NS SEiETE 2 558
Pk = TH i E 1 429
X TR [3<] Jop et 1 570
RN QLA RETAY 3 1287
Pk A RERAY 3 1287
RN QLA RETRY 3 1287
NV ALY fa] Z 2% 1 529




Pk Nl M 1 389
R SR PR 4 1 579
N4 S Rail 45 1 379
NIk A XS p g 1 600
NN S1EER] T3t 1 329
R4 N[ EEES 3 887
Pk AN A 2R 3 887
Pk ANFTAY 2R 3 887
XA Kiidt XIHT B 2 1078
RN Kii st XIHT 2 1078
N SETN) VN 3 1088
NIk SETN) L e 3 1088
NN SETN) L 3 1088
R4 ¥ 5 At P E 2 818
Pk B b PR 2 818
Pk ARERT K i 1 429
X ARFEFS AL 1 710
RN ARFERS iK% 4 2 918
N4 ASERT kw4 2 918
KA KAt Z= Bk 1 609
A4 H BHAY B iiie 2 858
R4 H BEAY B iiie 2 858
XA B b At e 1 429
Pk ANFTAY ZEE 2 858
Pk AN A ZEE 2 858
RN AT RS 1 530
N W S 3 B 3 1286
AN e J 3 Y 3 1286
NN WA JE 52 3 1286
R4 ¥ 5 At TS 2 808
XA B b At TS 2 808
RN EFilnl A5 [ 3 686
X Eilnl A5 [ 3 686
RN Bl 45 [ 3 686
N4 EEr i 2 758
NIk [EEon) i 2 758
itk E&r P& 3 938
R4 ELt etz 3 938
X AIEE SRl Pt 3 938
RN ARFERS PR 1 710
XA =TA P i 2 458
XA A P i 2 458
R SETN) R 1 515
KA AR AN 1 279
NN S1EER] /N5 3 1586
Pk E1EER] /N5 3 1586
Pk 1 BHAY [ ZNEE 3 1586
pilkE NTER) Atk 1 529
Pk NI JEBH 3 686
RN ANFTA JEBH 3 686
KN4 NGRS JE BH 3 686




Pk AHIRHT i [ 1 479
paiikE AT Hhdk 5 2570
N R EAT Hrgdk 5 2570
KA BT FHrgdk 5 2570
NN R Htdk 5 2570
R4 R EAT FHrgdk 5 2570
Pk SESTR A 1 379
Pk ANFTAY K AE 2 918
Pk AN A JEIKAE 2 918
RN EAlAT R0 1 479
N ] FIK 1 329
NIk BEE (RN 2 1420
itk E&r RN 2 1420
R4 & HT Szt i 1 229
X B Jit BT I 1 710
Pk Rl I SEE 1 670
X A 5 2 928
RN A B 2 928
N4 H BEAY FEBHZE 1 610
KA ASERT ZHa 1 379
A4 A JE RS 1 610
R4 ST Rt 4 1340
X SETN) Rk 4 1340
RN SETN] Rk 4 1340
X SET Rk 4 1340
RN Al AT RHER 2 828
N4 Al A A 2 828
KA b a A e 1 449
R ikl K g 1 523
R4 ArfE AL P4 1 549
XA At (Eont 1 449
RN Bt =LA 2 744
X Bt EA=EDA 2 744
RN FUIEFE 2 2 628
N USRS =¥ 2 628
KA ] P 1 670
itk EAlA o e 5 1985
R4 EAlA o g 5 1985
Pk AL R 5 1985
RN ALY e e 5 1985
Pk EALAT R 5 1985
Ptk SESTN) bk 4 1704
N ST I ek 4 1704
R AR ST PN 4 1704
NN ST Itk 4 1704
R4 ASERT MRiE 4 1 610
Pk AR SERT il 2 620
pilkE ARERT s 2 620
Pk ARFERT AN 1 610
XA E=TA A S 4 2 600
NV R faj et 2 600




IR R4 B il 2 ik 4 1264
R SR il 3 ik 4 1264
N4 E&r i > ik 4 1264
NIk [EEon] ki SZ ik 4 1264
NN leanl A 1 269
R4 ASERT bl 1 710
XN = ik 4 2 478
RN =R ik 4 2 478
X SET Bikia 2 1420
RN SEYN) Bikia 2 1420
N AR JE A 1 479
NIk ST XS 1 710
NN ZEA g4l 1 529
R4 = Ravil LN 1 510
X el Z=E 2 678
RN EiiLnl = Ex 2 678
Pk Kiidt = 1 710
XA % bt I 4 720
N4 ¥ 5 At I 4 720
NIk ¥ 5 At I 4 720
A4 ¥ 5 A I 4 720
R4 N[ N 1 530
Pk 1 BHAY FEEAR 2 580
Pk 1 BHAT EEAR 2 580
XA AT 5 SEAR 1 670
RN 1 BHAT [7E5% 1 370
N EFiiln) I% R AR 1 670
AN LK ZFH B 1 710
NN Al FE W 1 570
R4 A K4 1 330
X Eine | FE 2 628
RN LA FE 2 628
Pk EBHAT e 1 650
RN Bt JAGE 2 400
R kL i == 2 400
NIk ST BTN 2 720
itk ST 9T 2 720
R4 PRI} Kt £ 1 460
Pk A AT b AL 2 950
X AEE A b AL 2 950
X E1 BHAT FiER 2 914
RN 1 BHAT KiER 2 914
N EFiiln) S 2 830
NIk EFiilnl S 2 830
A4 E&r Al kE 5 2 1012
R4 ELt Al RE B 2 1012
X [Nl Fili 52 1 710
RN Al AT JEESS 2 714
XA A JE R 2 714
RN =Rl BB 1 710
NV ARFERY KA T 2 790




X N RAOR 2 1100
R N AR 2 1100
N ERS BIESS 1 584
p ik Kk Ryt 1 650
NN ] AL 1 417
Pk = TH TERVE 3 1430
XN = RRE 3 1430
RN =Th TRV 3 1430
Pk E1 BHAT Kot 1 594
RN A A 4 2192
N Eine ] A 4 2192
NIk Eine ] A 4 2192
NN Eineyl YA 4 2192
Pk o) BT 4 1400
X i) FEHr 4 1400
RN E&h A 4 1400
pNEE Bt JE B 4 1400
Ptk ANFTAY SRS 2 974
N /NS MR B4 2 974
NIk /NS RirZE 2 892
NN /NS RirZE 2 892
Pk B R 3 1324
Pk il gyl ERA 3 1324
RN AR EREA 3 1324
A NS 2R 4 1440
ik AR 2Rk 4 1440
N4 NGRS 2k 4 1440
KA N[ 2k 4 1440
A4 ASERT Tk1EH 3 551
R4 ASERT s 3 551
Pk ATE AT Tk 3 551
Pk A AT S 1 310
XA ¥ bt LN 1 460
RN Bt TR 2 980
N4 ¥ 5 At ZZL 2 980
R AIEE Y] 4| 1 330
NN ASERT JE 58 1 210
R4 WEr X = 1 650
X 1 BHAY X1 R BR 1 310
RN QLA KEE 6 1058
XA A TREIZS 6 1058
RN QLA KEE 6 1058
N4 Al A k& 6 1058
NIk QAL KE 2 6 1058
NN Al AT TKEI 2 6 1058
R4 & HT 5y i 1 414
X =Th 5 %4 B 2 734
A A 5 %55 i 2 734
X BEA %Rt 1 610
RN EAAT Kb B 2 470
KN4 A L L 2 470




Pk ESi:lal Zefh 1 477
paiikE AT NS 1 290
N4 ASERT ] 5l Bt 1 337
NIk ASERT Jiti i 4 1 370
itk ASERT T g 2 900
R4 ASERT Trig 2 900
XN AL g 1 230
Pk EBHAT AT 255 1 470
AR 1A a1 1 210
RN AUIEFE st 1 370
N ] T RtE 1 284
KA EESA Itk 1 310
NN AR Y RANAN 1 360
R4 EAA Tk KA 2 544
Pk LAY KK 2 544
RN Bt ZE 2 370
X Bt Z[H ot 2 370
RN SEYN) 48k 2 620
N4 SETN) £ 2 620
NIk AR SERY Bhyt BB 1 290
NN /NS PN RS 2 900
Pk NS 753 2 900
Pk BT B 1 670
A A ERAE 3 830
Pk =TA FE R A 3 830
Ptk A FE R 3 830
N4 AT HpZ 1 420
AN EE e 1 487
NN A B bl 2 434
KA AL B bl 2 434
X el KRz 1 370
Pk ARERT A 1 357
X EEH B 1 470
XA FHM ER %] 3 730
N il JE % 3 730
KA il ER % 3 730
itk leanl A SRR 1 510
R4 ZHA BT 4 680
Pk Ei Ll A 4 680
RN Eilnl i) 4 680
Pk ESi:lal B 4 680
Ptk JEZEA Gy A4 2 980
N4 BEZ AT Gy AR & 2 980
KA N[ g 1 310
A4 ZHA 2 1 210
R ZEH kb g 1 610
Pk NTAY iR iE 3 1249
pilkE NTER) g 3 1249
Pk NI g 3 1249
RN ARSERT ik [ 1 1 210
NV A el 1 574




ik S1EER 2igE 3 1170
ik S1EER i E 3 1170
N4 S Rail ZiET 1 540
KA KAt XIIE IS 2 920
itk KAt XIIE IS 2 920
R4 ArfE AL ik B 4 1008
4R QAL E199ili 4 1008
4R QAT E199ili 4 1008
4R QAT K BN 4 1008
R AAAL BEiR 1 270
N4 R AR 1 350
KA AR FZEIG 1 310
itk ST A 1 310
R4 ¥ 5 At Al pk e 1 410
X AR KR 1 520
4R AN AT il 1 400
4R WEr ks 1 400
XA E=TA 5y A 6 1918
N4 ZEA 5y A 6 1918
KA ZFH 5y A 6 1918
A4 ZEA 5y A 6 1918
R4 ZEh 5y A 6 1918
Pk =Th 5y A 6 1918
A EELR] B EAR 2 820
XA EESR] B EAR 2 820
PG I e MR 1 490
N4 IS HT B2 1 450
KA ZFH ZEE 1 400
A4 ZHA BURTE 5 820
R4 ZHA BURE 5 820
Pk Ei Ll BURE 5 820
Pk ESilal BUREF 5 820
Pk ESi:lal BURTE 5 820
XA A IER 2 820
N4 ZEA R 2 820
KA N[ i 2 774
itk NI it 2 774
R4 ¥ 5 At I i B 1 570
X AIEE 1R AE X KV 2 800
PN 1R AEX HEE 2 800
4R BEALAT fEIEHS 1 454
RN AR PR 1 480
N4 ST oS 2 700
KA ST o 2 700
A4 AHEA X1 T4 3 3 1421
R4 A X1 T4 3 3 1421
X AIEE 1 HE A X1 TG 3 3 1421
PG I QAT FMFAET 1 190
4R A AT MR 1 500
PG I JEZEA S5 1 550
KN4 EEN 4R 4k 1 350




X EAAT FIRZN 4 1500
R AR il 1 337
N4 R RN 1 337
AN e JEER 3 1701
NN WER JEER 3 1701
IS FIEE e JHAZR 3 1701
XN EAlAY [in] M4 4 2 740
Pk Al [i] e 4 2 740
X A AT Rk 1 550
R AT [iRiz] 1 500
N4 NGRS TR AL 1 600
ARFNEH AR JEhin= 1 610
itk R EAT % i i 1 510
R4 ST R 1 500
X AIEE 5 A JEE 1 510
RN E&h R 4 1200
X E&h R 4 1200
RN [ B 4 1200
N o] PET 4 1200
A4 EAlAT DESN 2 980
A4 EAlA EESN 2 980
R4 ELt BHULRL 1 560
Pk QAL gk 1 535
Pk WEr A% 1 360
X ARFEFS Y RE 2 710
RN AR PRE 2 710
N ] Rk 1 400
KA Kk K f 2 2 500
NN Kiikf e 2 500
R4 wEr it 2 356
X e AR 2 356
Pk A Z=[E pR 2 940
XA =TA 2% [ bk 2 940




